EUE ) E (avmR—a—I0 - HEIA — )V L EES

B avR7—73—N)

Q@ BNFHEICTHAFT
OHFF A UNEHICTEET C
Q@IURT—RIUSDEFEICELT
BEREGEEZREH L CEHRICTEE
DTEET, E ( @) D
@/\UVhETHICHRETY .
ORF—)VRBEATVUVRAEED -
HOET, A
AF—)LR ATFVUAR
p— ANy | | msBRas
B F—IVVE%E | Z—/UUARILS | F—/UVBMES [ 4 —/ ULBF vk
A
apmmll X |
b
[ & 0'/2H
DN
7| 4 G}
G 21N %
Y]
) RIE B o} D E F G H ISR AR
HE B R 0T am m) om) mm) om) om) (em) BN @mam) @@
AF—)L  01X25 WYs 25 37 34 125 45 23 20 10X (14488) — 21,950
AF—IU  014X32 W4 32 37 34 125 45 23 20 10X (144#) —— 22,750
AF—IU  0%X32  Wss 32 42 38 15 6 27 23 10R(1448) —— 29,550
AF—=)L  0%X38 W4 38 42 38 15 6 27 23 10X (1448) — 30,450
AF—IU  0%X25 W34 25 48 42 17 6 30 25 10R(1448) — 44,550
AF—JL  0%X32 W% 32 48 42 17 6 30 25 10X (144f8) —— 44,550
AF—=)L  0%X38 W% 38 48 42 17 6 30 25 150X (144#) — 44,550
AF—=)U  0%X45 W35 45 48 42 17 6 30 25 10R(1448) — 45,950
AF—IU  0%X50 W34 50 48 42 17 6 30 25 10R(1448) — 46,850
ZF—JU  010X40 Mio 40 48 42 17 6 30 25 10R(1448) —— 44,550
2F—JU  010X45 Mio 45 48 42 17 6 30 25 10R(1448) —— 45,950
2F—=JL  01X45 Wiz 45 69 62 27 9 44 33 504 1,475 74,000
AF—)L  01X59 Wi 59 69 62 27 9 44 33 508 1,475 74,000
ATFILDR  0S%X32 Wi 32 42 38 14 6 27 23 170X (14448) 975 140,400 ~
AFULURA  0S%X38 W3 38 48 42 17 8 30 25 170X (144%8) 1,600 230,400 U
ATFUUDRA  0S%X45 W34 45 48 42 17 8 30 25 10X (144f8) 1,700 244,800 K
AFUUA  0S%X50 W3 50 48 42 17 8 30 25 150X (144f8) 1,780 256,320 &
=1

B HEYF—\)VER

ORERIFTL—M J LIS+,
@O AR RIVS F b D55 A
Tyh T, . E

B
O T VU ARBRIERIEWV 1

L&Y,
BEEEEEL, |‘L o)

RS S — SR T - =S — N —NDN U

(O)

B RIEA B (mm) C (mm) D (mm) E (mm) F (mm) AR (F/148)
HO10X35 M10 35 70 110 40 2 1,050
HO10X40 M10 40 70 110 40 2 1,050




EUE0E [ =ymutrybIbhFyh - TLR——H I

N =ymitsry s RILh vk
OMEIFIRF—IVRHERT VUV ARD2EENHDET
OFERIINASTYNMITT,

) Jg #EB C FEA AAREE
" H B A (nm) (mm) BH (A1)
AF—)L M6X25 M6 25 24 1”50 2004 25,000
AF—)U M8X25 M8 25 27 =50 2008 28,700
AF—)U M8X30 M8 30 27 1=£0 200f8 30,500
AF—=JUL M10X35 M10 35 32 1=0 1004 23,600
AF—)lL M10X40 M10 40 32 1=-0 1004 24,100
AF—)U M10X45 Mi10 45 32 1=5-0 1008 24,950

AF—)L M10X50 M10 50 32 1=50 100# 25,700 =
AF—)L M12X50 M12 50 36 1=-0 50#H 36,900

AF—)U Ms%X25 W 25 27  JOXAk 200# 28,650 r ’]
AF—IU M54X32 W4 32 27  JOXA(k 2004 30,450 B
ZAF—)U M%X32  W¥% 32 32  JOXAh 100f8 23,600 J—l
AF—)L M%X38 W% 38 32 ZOXAh 100#8 24,100 L/ |

AF—=)L M2sX45 W3 45 32 JOX4(k 1004 24,950
AF—)U MX50 W3 50 32  J0OX4(k 10048 25,700

ZAFYLUZR MS10X35 M10 35 32 ——  100%8  1,050(:%)
AFYUA MS10X40 M10 40 32 — 1004 1,100
AFUUAX MS10X45 M10 45 32 — 100§  1,180(:%) ‘ ‘
AFIULUA MS3X32 W3 32 T’ ——  100%8  1,050(%) e
AFIUA MS3%X38 W3 38 32 — 10088 11,1000
;Lz;vavz BAE (RF—ILE) WUFvh W2TUY5Tyvv
JUFyb e
fRFyb . ATUY
JIv4 ATy
¥ rEIE ARl - : BmEnRrys  [EEOvYv
OZEIRUAIEX L A R . /“’"‘\3 A4
THREL,. , ALILL} ALILL) AL | i |
W46 - M81XF 6.2 40 9 |
(F—=T/itg) Wos- M0 7 47 11 2P KR vy
~
U . . o
3 B IvR—5—ikyy
=]
== A
o
5 B X RUEA BTEBm C(mm) 1A AAEEENH B
Mt E4X12 W4 12 16 250 (288#H) 6,100
JAN E1iX19 W' 19 16 270 (288#H) 7,050
7y E4X25 W'% 25 16 2J0Z(288) 7,325 c
N E56X19 WS 19 19 150 (14448) 8,100
j‘lr‘l E5¢X25 W% 25 19 1502 (14448) 8,750
l\
7,
1 RY n ~
P lFRIVAR—y—RIY
L
/l\‘ o}
5 op b
| B X  RYEA 2RB(mm) C(mm) D(mm) E(mm) TFEAEL AR EN5E)
m KEuX19 Wl 19 18 11 3 2J0(288#l) 9,550 AL
& KEx25 W4 25 18 11 3 2J0OZ(288f) 10,125 £
~ KEs¢X19 W5% 19 19 13 4 1J0Z(1448) 9,150 B
KEs+X25 Ws% 25 19 13 4 1J0Z(1448) 9,600 |
KEs4X35 Wss 35 19 13 4 170R(144#) 11,650




B0 E U e (RIWhTYD - BRAYRT—L =y FRIOYRT —— s
B RILkTvs

OO EDICELTLVET, -
® 1/ —[CHRBOMMREEEE TANTHIET, Bi%:%i

I
]

B 3 B = A (mm) B (mm) C (mm) D(mm) $#REH (mm) IYR7—ALNOEH TREAZR  AAMEE (F/146)
BH4 No.4 35 28 22 19 2.0 8smm~11mm _ 100f& 8,800

N BROURT—L—YvY

@I TADT EICEDPEL L S BBEBCTIFPMITET —
OB ICT =N EMYNE BT Ao
O I UNRT—NILNDBIEDERICHERTEET . B

@17 —X(C.2.5MZEREDT DICRAFENHDET .
E

I

vl

2 g 5 A (mm) B (mm) C (mm) D(mm) $BREH (mm) IUR7-AIUNOEH  1FEAEL  AHEE (B/15)

B115 No.115 50 40 37 22 3.0 11mm~14mm 55(& 11,450
B117 No.117 64 47 50 28 4.0 14mm~16mm 4418 17,000
B119 No.119 74 58 55 34 45 16mm~21mm 36{E 20,350

B FIaOUR7—L—v 9

@ SISO TTRE CTA ST AIRET v I
@IV =NV DBIEDERICERTERY,

D7 .

B & S5 A®IYE) B@m) C(m) D(mm) E(m) FERAFOES BERIIHEOR 1HEAR  FHMEE (E/15H)

F1 No.1 A 25 26 45 21 émm~13mm 300mm 1001& 30,000
F1.5 No.11% W45 32 41 70 29 9mm~14mm 450mm 1001& 38,000
F2 No.2 W45 38 55 88 33 13mm~17mm 750mm 501& 22,500
F2.5 No.2)% W34 50 70 108 40  17mm~25mm  1,000mm 35(@ 23,625
F3 No.3 W34 65 80 122 42 20mm~32mm 1,000mm 301& 26,700

B FRIOURT7—L—Y VTR

OFR/(FEFLYF (BEE) D2EENHDET
@Z1NZNNo.1H.No.12~2.No.2 2~3HD3%51 THiHhE T,

BFZ/\F HFLF (BER)
AUz B AZ IR (B/15) AU BT AZ AR (B/15)
FS1 No.1H 2,275 FX1 No.1H 3,450
FS2 No.1}5~No.2FH 2,750 FX2 No.125~No.2F 3,750
FS3 No.25~No.3MA 2,950 FX3 No.25~No.3MH 4,000

QU =T =N N UEE QU =T =N VU @ - Qe 7)),

2]



